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Physics : Section-A ( (©. “’ =1 =
Q \0 I In “) f} : f 1
1 A thin spherical shell ig harg wanL &ﬂ The maximum elongation of a steel wire © m
" -wThc potential difference y, 15\0‘! by m:l:fol’ nts length if the elastic limit of stecl and its Younn S 11
L =X C and P (in 1) shown in g o the modulus, respectively, are g # 107 N -m™= * and
7__.{0'4':‘; figure is: 5 % (01 N2, i :
W X m a
o 9
’3;73’0_1":11\6 =9x10” g units) (1) 4mm (2) 0.4 mm
(3) 40 mm (4) % mm
) 59 - 6 The moment of inertia of a thin rod about an axis
v passing through its mid point and perpendicular ,
c107x 10 to the rod is 2400 g cm?. The length of the 400 g 12
A 0/{' rod is nearly : ax1l v Es
P (1) 8.5cm (2) 17.5ecm L
C*H/F‘"C 4 K10 S (3) 20.7cm _(4yT0cm
3105 2 5 '
_ " @) 1x10 7 A tightly wound 100 turns coil of radius
() 05x10 (4) zero 10 cm carries a current of 7 A. The magnitude of
U the magnetic field at the centre of the coil is (Take
n
2 The output (Y) of the glven logic gate is 5|mllar F permeability of free space as 4z x 107" Sl units):
to the output of an/a : ‘Lff x (1) 44mT ) 4 4 T
.. 4+ (4)
. :}’Ll_ e AP 4rrxlo%!ero)\ h:r 41’"‘;8“’ "‘,J’
— 10"
- ZI > Y 8 At any instant of time ¢, the displacement of any
B % >: | particle is_given by 2¢t—1 (SI unit) under the
% influence of force of 5N. The value of
(1) NAND gate (2) NOR gate instantaneous power is (in Sl unit): g - «J_
. 10 2 5 ' T
(3) OR gate AND gate 3) 7 4 6 (? ;,_E:)F’_
‘-') \].1:0 \’i\i 'OJ-_ST
3 If the monochromatic source in Young’s double 9 Two bodies. A and B of same mass undergo
li v y ed by white light, th completely inelastic one dimensional collisj
t experiment is replaced by » then Pl hond on.
) , Gar i e body A moves with velocity v while body
will disappear. _ il ody B
(1) mterfer.encc pattern A is at rest before collision. The velocity of the
(2) there w:llbcaccntral- a ounded system after collision is vy. The ratio v : v, is ;
by a few coloured fringes: P12 (2) 2:1
(3)there will be a central bright \‘N_llitc fringe (3) 41 4) L4
surrounded by a few coloured fringes,
' _ . al wig 10  Ahorizontal force 10 N is applied to a block
4 tht ¥ WI” be of equal wi th, . i Adas
(4) all bright fringes shown in figure. The mass of blocks A4 and B are
"y | . 2kgand 3 kg, respectively. The blocks slide over
4 Inavernier calipers, (N * | divisions of vee a frictionless surface. The force exerted by block
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[1  Themg lo A% woan b }
=5 Ofﬂmanel 4 g G elow, l
LR ‘ Aterante :
- 18 ey "that of the carth and gatement |, n“” Statements : - outral 85
ameter half e ey €Onaiy . "ms are clectrically n¢ .t
acceleratio due ¢ A that of the carth, The negalive chag, Qal number of positiy
(1) ’ Sravitylon that planet is : satement I[E:CH' (v table
19.6 m 52 o o emit thepr '”F’ﬁ of each element are St3
(A-_)“. 98 m 5-—2 ilnd cmi wlrdl;[r : ot aonstrUIT
) 49mg2 Al In the light of j, Lrocr ot SPECTIT. e the
T AH773.92 1y 52 st appro, -lh“ ahpve statements, choos€ n
12 Consider the o poe” “PETOPidte angwyer from the options 81V€
. 1€ following &latenmente below : :
identifv mg Statements A and B and i
Nty the correct answer : ; ﬂ{ ‘ Both S"'“im::;i}t [ and Statement II are
CoA-T o | and. s
correct,
QJIC]L\I @ !30”] Statement | and Statement II aré
- incorrect
i (- b
g i D~ 1 (3) Statement | i§'dorrect but Statement II is
P: incorrect, M)
_ o (4) Statement | isgiil:[correct but Statement II is
A. 'For a solar-cell, the:}+V characteristics lies cqrrect. N
in the IV quadrant ofithe given graph. 0
o ; : ; : 2
B. In a reverse biased pn junction Biodle; the 15 Ae;l::n(f)]at ctll:cu]arrfqt__sc {;‘fradlus[;‘l.ircfm is pIa{.:e:
camenmsses (10, ooy | Sttt s i
charge carriers. . . o - :
g ™ t%_ 0 required to take it gwﬁv]ay from the surface is :
- . ’. /
%A is correct but B is/incorrect. @ O . 19.8mN | ry(2) 198N 9T
= ) Loy
}M is incorrect but I;_ig correct. X M% mN/ [>@4) 9N
N \ 80 L — N ) < A WL &
(3) Both A and B are correct. , e gt loo |00 X —~)\_‘_F§
y/ Both A and B dré iggrrect ‘/\i”"f ) —n . 1
~ o .
L L]
’ 00 N g —
00 T 98% 45
y -inD
Tl a rio 1o T -l C ] !0 q
13 A light ray enters througha r.u_,hl angled prism at A B > D X
poinbt P with the angle Of}l;lcrdeucc 30° as shown Solenoid - 1 'l‘g Solenoid -2 T{;E"is‘.
: e aure. It travels throtgh the prism parallel to L N .
in ﬁl’:‘ue pC and emerges along the face AC. The In the above dquji‘}ln.dq .,St.ronb bar magnet ig
e dex of the prismis: moving towards setepotd-2 from solenoid-, e
refractive 1nde < ' U4 Sin 4¢ direction Ofinduucdgurrcntm solenoid-| and th
4 o Sin 301: I4 in solenoid-2, reSRECtively, are through lha;
- = ! directions: O
f'g{ (l)LL.tf]ij}":ud e () Baandcp
%¢ Sz 3) 4pand (P ) Baand pe
(Y)
-
17 _ jing With uniform speed :
,);:’.7/ - A particle N]f“;l. - I ’ T speeding Circula,
P path maintat® L
(1) (1) consmal VoI
ot 2 ot accéldration,
A = velddly ¢
d i T i h i ;e
ﬁ ¥ - (3) c0|15“"" u; Ll.’:{)y I: vVarying acce[eralio
S - e velocity and vary g . .
3) 3 W v Ving m'celefation.
' [C
04_gnglish | Ontq,
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Match List T with List 1
List I
_ List 11

(Spectral Lines of (Wilvulcngllls (nﬂ’”
Hydrogen for

transitions from)

A. m=3tom=2 L 4102
B. m=4ton=2 L 4341
C. m=5Stonm=2 L. 6563
D. my=6ton =2 IV. 486.1

Choose the correct answer from the options given

below :

(1) A-II, B-I, C-1V, D-III

(2) A-II, B-1V, C-11, D-I

(3) A-IV,B-III, C-1, D-IT

(4) A-L B-II, C-I11, D-IV

The quantities which have the same dimensions
as those of solid angle are :

(1) strain and angle

(2) stress and angle

(3) strain and arc

(4) angular speed and stress

An unpolarised light beam strikes a glass surface
at Brewster’s angle. Then
(1) thereflected light will be partially Polariseq,
(2) the refracted light will b® cOmplete]y

polarised. .

(3) both the reflected and refracted lightwilj pe

completely polarised.

the reflected light will b® ©©Mplete|
polarised but the refracted light wiy be
partially polarised,

Q4_English |
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Given below are two statemenic. one is labelled

Both the points P and Q move with equal
speed. '
Point P has zero speed.

3)
“4)

If x=5sin (m + %)m represents the motion ofa

particle executing simple harmonic motion, lllle
amplitude and time period of motion, respectively:
are :

() Scm,2s
(3) Scm,ls

) S, 28
@) sm,ls

[ Contd...

(¥ Scanned with OKEN Scanner

as Assertion A and the other is labelled as 24 Alogig
Reason R. follow;
Assertion A : The potential (y) at any axial point,
at 2 m distance(r) from the centre of the ditiole
of dipole moment vector p of magnitude,
4%109Cm,is +9x10°y.
Thee
= 9 . r
(Take - c =9%10” gj units) () 4
: (3) 3
2P
Reason R : V=% 5 where 7 is the 75 Ifeist
dreyr
staten
distance of any axial point, situated at 2 m from -
the centre of the dipole. A
In the light of the above statements, choose the B
correct answer from the options given below:
(1) Both A and R are true and R is the correct C.
explanation of A.
(2) Both A and R are true and R is NOT the D.

' correct explanation of A. e
(3) Ais true but R is false. C;no
(4) Ais false_ but R is true. i
A wheel of a bullock cart is rolling on a !evel ((l;
road as shown in the figure below. lf its linear {5)
speed is v in the direction shown, which one of Y
the following options is correct (P and QO are any
highest and lowest points on the wheel, 16  Ab
respectively)? o

ens
E whi
v stri
’ (Y
3
Q -
(1) Point P moves slower than pgmt 0. 27 1
(2) Point P moves faster than point O.

e
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Alllogi Cirey;, i
ollowy rovj &) i
Wing trugy, tabl\:?cs the output ¥ as per the

~—

A|B|y

.‘h—-“_—'———-—

010 |1

011 |o

110 |1
The ex . -—l— I 0
1) Ap:ss‘fﬂ for the output Yis;
G) Tt (@) 4B+4

B @ B
Ifei ; . '
it t::Sr;};e Velocity of light in free space, the correct
. NS about photon among the following
g. The energy of a photonis E=hv.
- The velocity of a photon is c.
C.  The momentum of a photon, p= i
c

D. In a photon-electron collision, both total

energy and total momentum are conserved.
E.  Photon possesses positive charge.
Choose the correct answer from the options given
below :
(1) AandBonly
(2) A,B,CandD only
(3) A, CandD only
(4) A, B,DandE only

A bob is whirled in a horizontal plane by means
of a string with an initial speed of ® rpm. The
tension in the string is 7. If speed becomes 2 ®
while keeping the same radius, the tension in the
string becomes :

() T @) 4T
3) %;- @) ~2r

The terminal voltage of the battery, whose emf'is
10V and internal resistance 1 Q, when connected

through an external resistance of 4 Q as shown

in the figure is :

28

29

30

31

. connected in parzllel. The two combinations ¢

o 0o w»

-

h-T

[na unifory, 5~ ¢ etic
qeedle pery “¥etic field 0f0.049 T2 magh ",
55‘3“"“133;J "S 20 complete oscillatllogr[he
peedle is 9y Wn, The moment of inert!?

¥ X Of
ma gnellc Mo,

iude
106 o a2 » magmii®™ 7,
: 0 kg m?. I the nl 5;0#5 Am?:
then the vaj,, ol]t‘ of the needle 1s X~
X is :

S§& 00
S
2
(1. o @) 1287°
2
() 0= 4) 12807

A ‘f"i“’ .Of length </ and resistance 1009 15
divided into 1 equal parts. The first 5 parts ar¢
connected in series while the next 5 parts ol
again connected in series. The resistance of this
final combination is:

(1) 26Q 2) 52Q
(3) 55Q- (4) 60Q
Match List-I with List-IL. .
List-I - List-II
(Material) (Susceptibility (X))
Diamagnetic . x=0
Ferromagnetic II. 0>y=-1
Paramagnetic n. x>>1
IV. 0<y <€ (asmall

Non-magnetic -
positive number)

Choose the correct answer from the options given
below:

(1) A- , BIL C-IV, DI
(2) Adl, Bl C-IIL DIV
(3) A, Bl C-L, DIV
@) AV, Bl C-11, D-1

4
YA 185 T¥ 23
+ = —
2 2 ,Y »Z »P L
830X }0 . B° %};__-—__)Q Qo
In the nuclcar emission stated above, the Mass

¢ and atomic number of th

numbe ) € product 0
respecti"dy‘ are : .

(1) 280,8! A2 286, 80

3) 288, 82 (4) 286, 81
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yraph which shows ¢, . /)
p The® . te Varjation of | 17
and its Kinetic energyeis (Whey, , aBrOEIie
WSt e 1 isde
wavelength of a freg Particle) ,
I~ :
Lo {N
i
W) 3 IR
A €8 4
0 El's{) 0 E
1 L
® / o @
rJ—-—’*Em T E
D~ 0
O N
3 Inanideal transformet, the turng ratj 15 —F- =~
- lm Ns
The ratio V: V‘{J is@qual to (the symbols carry
their usual meaning) : '
j,l/)/ i 2 2:1
(3) 1:1 Mm@ 1:4
‘ L) :
H A thermodynamiciSystem is taken through the
cycle abeda. The work done by the gas along the
19 - path be is : R w= PAV
4 N \
o 8 ey
3mm--..- d v c g
Y . . * ok
100 kPa} -- - - 1, A
T g
20 Y :
’f_?)/ = M) 300
N7 Q@ e0s
5 Inthe following gire: ' .
between { g circuit, the equivalent capacitance
€rminal 4 §nd terminal B is : \
aup (F ' | |
TW'E‘HF R ]
4 , Zaxal
HL"F:]_"B %
2uF % ,:;2
MuF AN L §
- @ e
QO o5y 0@ WF
O @) 4qpF

36

37

38

39

Physics : Section-p Q%
)

Ifthe plates of g
to a battery are
A. the charge
B. theener

J \‘\
moved clog, e,
. g ™
Stored in j ; tih il
gy StOI‘ed in I[ [rEaS'e,‘_ My Ihf_’-n

C. its capz_tcitance increa; .E‘fffase-,
D. the ratio of charge ¢, -
the same. "

: tent;
Iai rg h'ﬂ L

E. the prodyct of charge

ghtci)osc the most ,approprjal:”"ageincrﬁ- ;
ptions given be|oy- Wove lrom rfey

(1) A,BandE gy
) Nly (2) 4
A B,DandE ¢nly (4) A:BL:,EE“'*'

. only
A 10 pF capacitor s connegyy),
source as shown ip figure. T, alfﬂV,SfJH;
the circuit is nearly (m=3 y Current jr
+|= .
+li=
C=10pF !
210 7,50 Hz |
(1) 0584 ) 154
(3) 1204 (4) 1354

A force defined by F= a;%p; actson a particle

at a given tirﬁé t. The factor which is

i i i  is:
dimensionless, if, o and ﬂmconstants_ 5

1 [1/
(1) B% @ %

(3) apt

T.V curves of

. th ,
The following graph l'eF_’“-'je“[; pperature asdpl
; ere T is the p, and Ps
al gas (wher (P P2
aln e ll.l:le) at three P resSUfis law repregenlf.'d
the vo fchar (4] QL“‘}

COmpared with those ©
as dotted lines- .

(%

" e
frelﬂ”(o:)l ‘pi;vPJ?PZ

i g >5 75

[ Contd-
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Aniron b, '
ar of <
It is bent at length L has magnetic moment M,

ke middle of its length such that the
€an angle 60° with each other. The
Oment of this new magnet is:

M) M M

® 3 1/

T
HME

*_‘?Pafallel Plate capacitor is charged by connecting
- Rtoa b?“ﬂ{y through a resistor. If I is the current
in the circuit, then in the gap between the plates :

(1) there is no current.

(2)

41

displacement current of magnitude equal to
I flows in the same direction as I.

(3) displacement current of magnitude equal to
I flows in a direction opposite to that of I.
(4)

displacement current of magnitude greater
than I flows but can be in any direction.

42 A "metallic bar of Young’s modulus,
0.5 x 101N m=2 and coefficient of linear thermal
expansion 1073 °C-!, length 1 m and area of
cross-section 10~3 m? is heated from 0°C to 100°C
without expansion or bending. The compressive

force developed in it is:
(1) 5x103N (2) 50x103N
3) 100x103N  (4) 2x103N

Choose the correct circuit which can achieve the
bridge balance.

43

(2
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46

e velog .
m i ~time (1) plot of the motiof at

ody is sh

body OW b -

?\

1

3

T

0
ts) —
The acceleraoy (a)—time (1) graph that best suits
this motion js .
L £
M 0 ta)— @ . 19—
T
(3. L t(s)~> ) 0 1(s)>

A small telescope has an objective of focal length
140 cm and an eye piece of focal length 5.0 cm.
The magnifyiﬁ'g' power of telescope for viewing
a distant object is:
(1) 34 (2 28
3) 17 4 32
The minimum energy required to launch a satelljte

of mass m from the surface of earth of mass )¢

and radius R in a circular orbit at an altitude of
2R from the surface of the earth is: :

5GmM 2GmM
() —r @ 3%
_@_’_’.‘H— GmM
() 2R 3R
[ Comd_._

o T SRS 2

(¥ Scanned with OKEN Scanner
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47 If the mass of the bol | 9

it
. . . . u|'||
increased to thrice its orjy;. MMple pendv!

)
. i e : e cll},lﬂ
is made half'its origin Umass :mdll-*l

al e 1me

period of oscillation is L{Iiﬁ e (M
12 Mes jtg origind

period. Then the value ;)ft‘. fue
M B @y ;5
@ 243 @) 4

48 Asheetis placed on a horizopgy surface in front

of a strong magnetic POl&. A force is needed o :

A. hold the sheet ther&if it i magnetic.

B.  hold the sheet theteif it i non-magnetic.
C. move the sheet E’f;iv:ay from the pole with
uniform velocity ifit is conducting.

D. move the sheet E@f\i‘}}ly from the pole with
uniform velocity ifit'is both, non-conducting
and non-polar.

Choose the correct statement(s) from the options

given below: ¥}

(1) BandDonly =/

(2) AandConly S

(3) A,CandDonly ...

"\E.

(4) Conly

¥

s
Two heaters A and B have power rating of | ky
and 2 kW, respectively. Those two are firg

- connected in series and then in parallel toa fixeq
power source. The ratio' of power OUtputs for theg,
two cases is: .

1y 1:1 @) 2:9
3) 1:2 @ 2:3

Y

49

50  The property which is niot of an electromagpy;.

wave travelling in free space i$ that :
(1
(2)

they are transverse in nature-
the energy densiiﬁn elecll’l.c field js ¢ ual
to energy dcnsit)f’nf magnelic field,

I

3)
(4)

" .
they travel with 3 gi)ccd equal to

ol

.. (1) .
they originate from charges moving iy,
uniform speed.

Q4_English |
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Chemistry : Section-A (Q, -

51 1

' to 85)

.
e,

Among Group |6 elements, whi

show —2 oxidation state?

(1 O (2) S

(3) Te (4) b,
) ]

thone does ;\-(-J

Match List I with List II."

- List I g'l;istl[
(Molecule) (Number 4pg types of
hon(_l{f between two
carbon atoms)
A. gtha‘ruf " I one g-bond and
e G;' tWo 7-bonds
B. cthene II. ‘two 7-bonds
C. carbon -1I1. “one g-bond
molecule,C,  — 1+
D. ethyne IV. {one 5-bond and
s Ca “one n-bond

Choose the correct answerfrom the options give
below: . 0
(1) A-I, B-1V, C-II, D-III
(2) A-1V, B-III, C-II, D-1
€43 ALLBAV, CII DI
4 _;_\;1_1_161;_-;\_{, C-1, D-II’}
Fehling’s solution ‘A’ is ]
(1) aqueous copper sulphate
(2) alkaline copper sulphate .
(3) alkaline solution ofj sodium potassiufm
tartrate (Rochelle’s salt)

(4) aqueous sodium citrate

(Y]

Match List I with List 110}
List I List 11
(Conversion) (i (Number of

-l Faraday required)

A. 1 molofH,Oto o, ML iF
B. | molof MnOI o ‘Ol 2F
Mn2* _:
Cc. 1.5mol of Ca from n. 1l
molten CaCl, .

3
D. 1 molof FeOto Fe,QOy ) V. L
Choose the correct answer from the 0P

slow: |
:T; A-11, B-1V, C-1. D-1IL,
2) A, BV, C-L DAl
3) AL, B-L C-1 DY,
(4) AL, BV, C-IL DI
[ Contd.
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55

56

37

(H @ H, 0+
(i) crogt
2) G 0
@) @) BH,,,
(if) H,_oz/ OH
33
- (1) PC(;;:_\3
.3 @ BH
N
(i) H,0;/OH
2{:.:.2/
(iii) a]k.z].:{MnO4
(iv) Hso@'
(4) () HoM*

NO,
)»/ @0"}'{'

=TIy e

Identify t}
about lﬁe fgl correct reagents that would bring
lowing transformation.

: >-—<:1121({~_‘H=CH“_+
: 2
C”z ~CH, - CHO
[

(i) Pcc:j~
b~

(8]
Intramolecular iydrogen bonding is present in

2) O

{7}

NB%

3) Q/ =
HO

@4) HF 1)

L

Activation energy of any chemical reaction can
be calculated if one knows the value of
rv

i
: ) smperature.
J}Y rate cons&?t at standard tempe

(2) probabili'ty of collision.
3) orientati;?[lg of reactant molecules d

uring

CO"iSiOn'I 1

rate constﬁ'ﬁt at two different temperatures.

4

Q4__English ]

9

58

59

60

mateh Ligy
“Ilh LiSl ”

N

[eolrol o

i £)
&

List 11 (Type ©f

isomerism)
[. Solvate
isomerism

11. Linkage
isomerism

[1I. Ionization
isomerism

IV. Coordination

isomerism

Choose the comrect answer from the opiions given

below:;

(1) AL B, GV, D-1

@ A4BmEIV, DI
(3) A, BV, G-I, D-II

(4) A-IL, BV, CHIL D-I
vy
O -

1 gram of sodium hydroxide was treated with
25 mLof0.75M HCl solution, the mass of sodium

hydroxide left mel_-c}acted is equal to

(1) 750mg
(3) Zeromg

:'(} (2) 250 mg
L“-.! (4) 200 mg

i1

3
0

Arrangé

the follewing elements in jpere

i asi
c|ccll'ﬁllcglltl\#|ly: dslng

order of

N, 0 B ©

se the correetpnswer from the optiong give

Choo

below:
(1) gi<C<N

(2) Si

Si

LEY n

Ko<
'4(3‘5()}_“;.EN¢ F

F<N €€ <Si

3y O
() 0<N<C<sj

) F<

[ Congg
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watch List [ with List II,

List I List i1
(Process) (Condigions)
A [sothermal L No heat exchang®
process ,
B. lsochoric IL. Carried out at
process Constan temperatu’®
C. Isobaric L. . Carried out at
process Constant yolume
D. Adiabatic V. Carried oyt at
process Constant pressure
Choose the correct answer from the options given
below:

(1) A-IV, B-II, C-II, D-I
(2) A-IV, B-II, C-III, D-I
(3) A-L, B-IL, C-lII, D-IV

})/ A-I1, B-I11, C

IV, D-L
Which one of the following alcohols reacts
instantaneously with Lucas reagent?

62

(1) CH, -CH, -CH, -CH,0H

(2) cH,-cH,- CH-OH

() cH,- CH - CH,0H

CH,

o
4) CH, - (Ij -OH

63 The energy of an electron in the ground sy,

fn =1)for He* ion js —x J, then that foran elecqr,
In n =2 state for ge3+

ioninJis:
() -x X
@) ~&
9
B) —4x 4
@) —gx

V4 _Engligp |

10

64

65 v

66 .

67

The
o compound that will under
ith the fastest rate is

Br CH;
(3) ©/ (4) ©)\'Br

20 Syl reagy

The Hen ‘§ )

gioes (Ar)é. glw'constant (K values of thre;
» B, -) In water are 145, 2x10~5 an

:.%S kbar, respectively. The solubility of these gase:

In water follow the order: ik

(1) B>A>C
() A>C>B

(2) B>C>A
(4) A>B>C

Which plot of In k vs + is consistent wiz

Arrhenius equation?

Ink—

Ink—

(1)

Ink—

) qineia, Ko and K,
In which of the following equilibrid: Ry

are NOT equal?
1) PClsgy = PClp * Cho
@ Hypthe = 2
+ ng)

() COg*HO = O

(4) 2BiCly = Brag * e
[ Contd--

_—

(¥ Scanned with OKEN Scanner



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

68

69

70

Q4_English ]

Given below
Statement 1
pentanes follows the order

g;p&ntane > isopentane > neopentane
mzlt:cmurent II.: When branching increases, the
_ altains a shape of sphere. This results
in sr.naller surface area for contact, due to which
the intermolecular forces between the spherical
mCTIecules are weak, thereby lowering the boiling
point,

In the light of the above statements, choose the

"MOSI appropriate answer from the options given
below:’

are two statements:

_{1)—Both Statement1and Statement Il are correct,

(2) Both Statement I and Statement II are
incorrect. ;

(3) Statement 1 is correct but Statement II is
incorrect.

(4) Statement I is incorrect but Statement II is
correct,

1"

The reagents with which glucose does not react
to give the corresponding tests/products are

A. Tollen’s reagent |

B. Schiff’s reagent

C. HCN

D. NH,OH

E. NaHSO;

Choose the correct options from the given below:
(1) BandC (2) AandD

(3) BandE (4) EandD

In which of the following processes entropy

increases?
A. A liquid evaporates to vapour.
B. Temperature of a crystalline solid lowered

: The boiling point of three isomeric

Lir::aItc(lfliE;i;-l With List 1 ents/

lo ' . a

) List 11 g};l cﬁﬁon)
M 0

A C)‘Qx,z&ug LAy

E:f:

0 :
. Q-/\Ao
© II. CrO;
OH
c O »(y° L. KMnOy/
A
m KOH;
CHcy
p. T, F‘rf IV. (i) Os
Cook . 0
N (i) Zn-Hy
Choose the correct amgwer from the options given
below; E

(1) A-IV,BJ, c-1NED-11

(2) AL, B, C-1I, D-IV

_BT A-IV,B, C-I1, D-III

(4) A, B-IV, C-I1, D-I1I
™M

72 Given beloware twb{Statements:
Statement I ; The Boiling point of hydrides of
Group 16 elements follow the order
H,O > H,Te>H,Sex H,S.
Statement Il : On the basis of molecular mass,
H,O is expected to have lower boiling point than
the other members of the group but due to the
presence of extensive H-bonding in H,O, it has
higher boiling point.

" In the light of the above statements, choose the
correct answer fron{'the options given below:
¢)) Both Statement! jand Statement II are true,
(2) Both Sta'tem.enyl.and Statement I are false,
3) Statement I is %rgie but Statement II is false,
(4) Statement I is ‘gq_l;e but Statement I1 is trye,

a

?3 ForthereaCtion ZA‘S:%‘ B+Cs KC=4xloh3.Ata
o time, the composition of reaction mixtyre .

give
[aeBl=(c]=2x107M.

is : _
from 130K Ito 0K. ot D Then, which of the fql'lf)lv:wr}g is correct?

C. 2 NaHCO3(S)—>Na2CO3{S} )™ T2V () ) React!"“ 1}.:>at ?%il :ibnum.
D C[,(g}—-ﬂ Cl(g) ' ' Mac:;g: as g.tendency to go in forwarg

e ions gi = jrection-
Choose the correct answer from the oprions gIven 3) Reaction has att_\el!ndency 10 80 in backwary
below: } | o a0 ;
1) A and C (2) A,Band D @ P‘F‘“"f}ﬁﬂ as gone to completion jp fOI'Ward

(4) CandD direc™

(3) A‘ C ﬂnd D

) / il el
~ 4KXI6 )(4“ 10
P AL
--""'-—‘_.__——



https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

Match List Iwith List .

74
List 1 Listu
Quantum Number l“r"rmmim, rovile
A.my Shape Of(]l'bim]
B. my n__\.w g
¢! i Orientation of
Orbita] _
D'—'B’ ' * Orientatjon of spi”
of electron
Choose the correct answer from the options given
below:

(1) A-I, B-1II, C-II, D-Iv
(2) A-I, B-IV, C-1, D1
A37 AL B-1V, C-I1, D-1
(4) A-II, B-I, C-IV, D-II1
75 Acompound with a molecular formya of CeHia
has two tertiary carbons. Its [UPAC name is:
(1) n-hexane
(2) 2-methylpentane
(3) 2,3-dimethylbutane
(4) 2,2-dimethylbutane
76 On heating, some solid substances change from
solid to vapour state without passing through
liquid state. The technique used for the
purification of such solid substances based on the
above principle is known as
(1) Crystallization
(2) Sublimation
(3) Distillation
4) Chromatography

77 The most stable carbocation among the I‘ollnwing'

IS:

12

/’\\I

U
Q’/‘ /}
-

78

;i

80

81

Given below are two statemeny;.
Statement I : Aniline dogs
Crafts alkylation reaction,
Statement I1 : Aniline canng
Gabriel synthesis.

In the light of the above Statemen
correct answer from the options o
(1) Both Statement I and Statement | are tru
(2) Both Statement [ and Statement ] are fals

ﬁ/s'tatement [ is correct by Statement 1|

false.

not undergo Frieq

the prepared gh oy,

ts. choose
Ven bf:ln'u.‘,

(4) Statement I is incorrect byt Statement I
true.

Which reaction is NOT a redox reaction?
(1) Zn+CuSO, —» ZnSO;+Cu

(2) 2KClO;+ b —>2 KI0; +Cl,

(3) Hy+Cl, » 2Hcl

(4)" BaCl, +Na,SO, — BaSO, +2 NaCl

Match List I with List 1I.

List I List I1
(Compound) (Shape/geometry)
A. NH; .
B. BrF; IL.
C. XeF, I,
D. SFg IV. . :

Choose the correct answer from the options give
below:

(1) A-l, BV, C-lI, D-III

2 A-ll, B-1V, C-1lI, D-I

(3) AL, B-1V, C-1. D-lI

(4) Al B-IIL, C-IV, DAl

Trigonal Pyramidal
Square Planar
Qctahedral

Square Pyramidal

Arrange the following elements in increasin
1 .

order of first ionization enthalpy:

Li, Be, B, C, N -
Choose the correct answer from the opions &

below:
(1) Li<Be<B<C<N
(2) Li<B(Be<C<.N
(3) Li<Be<C<B<N
(4) Li<Be<N<B<C
| Contd-
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3 v S
.,.fm;x‘ =
82 “Spin only - ~Uion-B (). No. #6 to 100)
¥ Magnetic moment i : The pair of hhiak .
. is same for whicl | 86 langy, . aneliC
OA1 e f(:‘-l'a\vin,t_‘. ions? e is hanoid jons which are diamagn®
.+ Tist
B. 2+ Cedt
. =T 4
E. Sc3+ % (2) geB ﬂnd Euz'l-
Ch : ' (@) Gd* .
(.)ose the most appropriate answer from (he - J+mul Ey3+
OPUions given pelow: 4 Pm¥ay Sm3+
/*(‘l')’/é and D only
(2) AandE Givenb . i
(3) Band l(:j o ¥ -ualitat‘eloware certain cations. Using inoran'®
@ only q Ve analysjs, arrange them in increasing
and D only £roup Number fyo0 0 10 VI
A. ARt B CuZt
53 The_ E® value for the Mn3*/Mn2* couple is more C. Ba* D. Co?*
pOSllzwe than that of Cr3*/Cr2* or Fe3*/Fe2* due E. Mg
to change of .
1 sg 4 : Choose the correct answer from the options given
(1) d° to d* configuration bolow:
(2) d° to d? configuration '
1) B,A,
(3) d*to d3 configuration (2) D.CE
(4) d3todS configuration (2) B,CADE
(3) E,C,D,B,A
. 4) E,ABCD
84  The highest number of helium atoms is in ®
(1) 4 mol of helium . . .
2) 4uofheli 88  Major products A and B formed in the following
2) e reaction sequence, are
(3) 4 gofhelium ' o
(4) 2.271098 L of helium at STP H;C PBr
3 & alc. KOH B
85  Given below are two statements : (major) (major)
34 3_~ Br
Statement I : Both [Co(NH3) ] and [CoFé] H,C H;C
; (D) 2= . B= @
complexes are octahedral but differ in their ;
magnetic behaviour. Br :
3+ . lIJC H3C
Statement II : [Co(NH3)6] is diamagnetic @) - i B U
. 3- . ¥ i OH 0
whereas [Corﬁ] is paramagnetic. » B HC H
In the light of the above statements, choose the 3) A- . B=
correct answer from the options given below:
(1) Both Statement I and Statement 1l are true, ol o
2) Both statement | and Statement I are false. Hs Br  15C
(3) Statement L is true but Statement Il is false. @) A= ; B=
(4) Gtatement | is false but Statement I1 is true.
E : 1 [C
' Q4_English | 3 ontq,
B P R SR R

|
|
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89

90

91

92

The work done dming (het ,ml
\erlhlu isoth oC
expansion of one mok

Wdrgpen gas? at =
~ gen g

from pressure of 2 Oatllno Phere g 10am osphe
is:

P
(Given R = 2.0 cal E(; Mol~1y ?V

(1) W =
(2)

0 calorie
—413.14 caloues
413.14 calones

100 calories (")
Ty

Identify the ma_jof product C formed in the
following reaction Sequence

» NaC
CH,-CH, ~CH, -fI-_J;—a.Nﬂ A
A0
OH™ , g —NaOH c
Partial hydrolysis Br2 (i)
)
(1) propylamine )
(2) butylamine ™
; )
(3) butanamide ‘
(4)  o.—bromobutanoic acid

.....

The products A and B obtained in the following
reactions, respectively, are

3ROH + PCI3->3RC] +A
ROH + PClsaRCLmHCI +B
(1) POCIy and H,PO,

(2) POCI, and H3'|3"c’) !

(3) H3PO, and ch13

(4) H3PO; and POCI,

Mass in grams of copper deposited by Passing
9.6487 A current throygh a voltmeter conhmmg
copper sulphate solution for 100 seconds jg:

(Given : Molar mads of Cu : 63 g mol™,
IF =96487 C) (‘

() 3.15¢
(B) 315g

(Y }(’)) 03158
1_‘_--(4) 0.03158

Q4__English |

93

94

95

96

97

14

=32 .
b= 90 T
C; Q5 /.

A compound X containg 2%
renmmlug pclccnlag,c of C,
formula of X j¢7)

(Given atomic ffagses of A=gy,
(1) ABC, [~
(3) AB,G, o @ macj

‘I

== G

b4y
J.:, 1
o
OTA, 20;4,0FI5 3
lhcn the empir.

During the prt.pamnon of Mohr's g
(Ferrous ammoqrum sulphate),
followmg acid is added to
FeZ* jon?
(1) dilute hydfoghloric acig
(2) concentrated sulphuric acig
(3) dilute nitric-acid
(4) dilute sulphunc acid
r*‘é]

Identify the correct answer,
(1) Three resqnance structures can be drawn f:

ozone.
(2) BF5 has non-zero dipole moment.
(3) Dipole moment of NF; is greater than th:
(4)

alt solyg,
hich of ¢
Prevent hydrolys;

of NH;. ()
Three caqqnical forms can be drawn fc

c02“
C‘d

The rate of a 'reaction quadruples whe
temperature ‘changes from 27°C to 57°C

Calculate the energy of activation.
Given R = 8.314 J K- mol-!, log 4 = 0.6021
(1) 38.04 ki/mol
(2) 380.4 kJ/mol
(3) 3.80 thn{JT:
3804 k)/mlol
(4) of

For the given rg'iénon
nQy/HY P
O C| i KM (major
H Di ) prodllcl]

‘P’ is
(1) O——CI[O
(2) O—(_,O’(z)h

OH[~OH

& OO

o m

[ Contd:
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5%

Botany : g
- ~Jion-A 135)
» qo1  AUXIN ISy (Q. No. 101 to e
lawns. By, Y gardeners to prepare wee®™ .

n
/(,H/ Promy, da","‘gc is caused to grass as aU**
(2) Pl'omotes apical dominance.

'(l‘he lplciof Osmotic pressure (1) vs concentration
;no L=1) for a solution gives a straight line with
Slope 25.73 L bar mol-!. The temperature at which

the osmotic pressure measurement is done is: (3) does *dbscission of mature leaves Onll{;
0
(Use R = 0,083 L bar mol- K-}) plany. " “1ect mature monosatyledo®
4) ca .
(1) 37°C (2) 310°C @) %8 belp iy ceit givision in grasses: *°
Produce grovy
(3) 25.73°C (4) 12.05°C '
102 H::;:::’P’ molecules of ATP and NADPH a}:g
. . . re or eye (9] ﬁxed int
99  Given below are two statements : Calvin Sleley ry molecule of' CO, f
3+ (1) 2 molecyles of ATP and 3 molecules ©
Statement I : [CO(NH3) 6] is'a homoleptic ' NADPY
. 5{,71)' il Molecules of ATP and 2 molecules Of
+ . ADPH
complex whereas [Cn(NHs)4 Clz] is a (3) 3 molecules of ATP and 3 molecules of
heteroleptic complex. NADPH
(4) 3 molecules of ATP and 2 molecules of
~~ NADPH

34 '
Statement IT : Complex [Co(NH3)6] has only

; . = 103 In the given figure, which component has thin
one kind of ligands but [Co(NH3)4 Clz] has outer walls and highly thickened inner walls?

more than one kind of ligands.

In the light of the above statements, choose the
correct answer from the options given below:

L,(H/EBth Statement I and Statement II are true. i o N3
(2) Both Statement I and Statement II are false. “c @) D
(3) Statement I is true but Statement II is false. (3) A 4 B |
(4) Statement I is false but Statement II is true.

104 Match List1with List 1

. ListI ‘ L'iSt 1I ‘
100 Consider the following reaction in a sealed vessel A. Nucleolus L (S);}Zl?;:(;.n?;m"
ilibri ith trations of =oupl
at equilibrium with concentr. " " ot I, Organizstion like
N, =3.0 103 M, 0,=4.2x% 10~ M and ; the cartwheel
) 3 ycoplasts III.  Site for active
NO =2.8 x 10— M. _ C. Le ribosomal RNA
=N +0 synthesis
ZNO(S) 2(g) "~ 2e) D Golgi IV. For storing
[£0.1 mol L™ of NOyg is taken ina closed vessel, ap ar:::f:orrect answer Fr[:rlrtlrtllt::fptio '
) G £NO Choos¢
what will be degree of drssoc_:latlon (ct) of NO(, belo; - i
at equilibrium? _/Lﬂ/i_”','B-III, C-I, D-IV
(1) 0.00889 (2) 0.0889 g; il B-1V, C-I1, D-1
5 -1, D-1
(3) 0.8889 4) 0717 @ MEELB
| Q4_English | 15 | [ Contq,,
i - ,

i
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dentify the type of flowers
of calyx. corolla and androe,
the ovary from the given 1lg,|

on
Sed o the PL"'“
Cium, with respé¢

es (a) and (V)

(1) (@) Epigynous; (b) Hypﬂg}’nous

(2) (a) Hypogynous; (b) Epigy
_(3)"(a) Perigynous: (b) Epngngous

(4) (a) Perigynous; (b) Perigynous

£y
106 Match List I with List I '
List I s List 11
A.  Rhizopus L. ;Mushroom
B.  Ustilaugo II. “"Smut fungus
C. Puccinia [ll.  Bread mould

D. Agaricus IV. Rust fungus

Choose the correct '1nswer ['rbm the options given

below:

() A-111, B-II, CIVDI
(2) A-L B-l1I, CII,DIV. .
(3) A-lI, B-II, C-I, D-1V:#
(4)  A-IV, B-III, C-II, D-1'73
L0
107
actinomorphic flower?
(1) Datura (2)cvCassia
(3) Pisum (4)11Sesbania
[
Identify the set of correct statements:
A.

108

produce nectar.

B. The flowers of w atu‘hfy are not pollinateq
by water. .

C. In most of water-pollinated species, he
pollen grains are protected from wetting,

D.

and ribbon like. E0)

E. In some hydrophytes, the pollen grains ar

carried passively |ns.1de water.

Choose the correct answer from the options giyey,

below:

(1) C,DandE only =
(2) A,B,CandDonly
(3) A,C,DandE only

(4) B,C.DandE only

Q4_English |

Which of the followmg is an example of

The flowers of Vuh’rsuena are colourful apq

Pollen grains of some hydrOPhYIeS are long

16

109 A pink flowered Snapdragon ply

110

111

112

with a red flowered Snapdrago, i Wag
of phenotype/s is/are expecteq j,
(1) Only red flowered plants
(2) Red flowered as well as pink q -
(3) Only pink flowered plants red planh
(4) Red, Pink as well as white flowey e (M
Plany

Cro ,t’c,
“Why ty,
pf Dgcn )},

Formation of interfascicular cambjy Ol
developed parenchyma cells is an gy, ‘Z\Lﬂh
(1) Differentiation i

_(2)- Redifferentiation - ?{Cl
(3) Dedifferentiation )
(4) Maturation

J
Match List I with List II :”]
List I Listir
A. Two or more L. Backcl;n\s
alternative '1'
forms of a gene r{'}
B. Cross of Fy Il Ploidy 0
progeny with -
homozygous
recessive parent
C. Crossof F, 11 Allele ()
progeny with i
any of the parents [~

D. Number of V. Testerosy

chromosome e
sets in plant )

Choose the correct answer from the optionsghe"
below:

(1) A-l, B-II, C-llI, D-IV
(2) A-, B, C-lll, D-1V
LY AL, B-1V, C-1, D-1I
(4) A-lv, B-III, C-I1, D-1

(")
i)
Iedﬂfl'
Which of the following are required or N
reaction of photosynthesis? "J
A.  Light o
B.  Chlorophyll \0
C. €0,

D. ATP

E. NADPH s
Choose the correct answer from the P |
below: i
(1) A, Band C only ’,
(2) B,CandD only l
(3) C,DandE only :

(4" Dand E only :-I ;d
oo

il
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L o, pae R I/

113 Given belgyy

e lac .
are two statements: The "actose Present in the growth medium of

. pacteria jg . 1 of"
Statement 1 : Chromosomes become gradually TnSported to the cell by the actio”
visible under light microscope during leptotene /U’)/ge‘a'gaiactosi dase

stage.
2) Acety]
Statement I1 : The begining of diplatene stage is : Loy

recognized by dissolution of sypaptonemal (3) Permease :2
complex, :

: s (4) Polymerase Y
In the light of the above statements} ehoose the ™
correct answer from the options givgﬁbelow: i

L) CQ
(1) Both Statement I and Statementd!] aretrue | 117 Given below are two statemehts:

2
(2) Both Statement I and Statement II are false Statement I : Parenchyma is living but

(3) Statement | is true but Statement |1 is false collenchyma is dead tissue. (7}

. P 1y
{4y~ Statement I is false but Statem%ﬂf_ Il is true Statement IT: Gymnosperms,lack xylem vessels

‘ £ i but presence of xylem vessels js the characteristic
114 Spindle fibers attach to kinetd¢hores of of angiosperms, <
chromusomesduring i_,: In the light of the above stat n}!ents, choose the
(1) Prophase A2)- Metaphag’é' correct answer from the options given below:
(3) Anaphase’ (4) Telophase (1) Both Statement I and Statement 11 are true
1y (2) Both Statement I and Stélit;%nent I1 are false

115 What is the fate of a piece of DNA c%?l‘ying only

< . is true but Statement I1 is false
gene of interest which is transferred E_ftﬁo an alien (3) Statementlis y

o -
organism? Rt (4) Statement 1 is false but Q%;ement Il is true
A. The piece of DNA would be ableto multiply (58

itself independently in the prog_qr:py cells of
the organism.

B. Itmay get integrated into the genome of the

' po N
118 Which one of the following is not a criterion for
élassiﬁca-tion of fungi?"

. '].
recipient. o 1) Morphology of myce i,
C. It may multiply and be inherited-along with @ Mode of nutrition Lf: )
the host DNA. e e fomatio
- pore formation.
D. The alien piece of DNA is not an integral 3) e : '33\2
' | < s i
part of chromosome. o (4) Fruiting body o
- ‘:" - ( .‘
E. It shows ability to replicate. (¢} \r
Choose the correct answer from the options 8IVER |y g jjant, black seed color (BB/Bb) is dominans
below: ver white seed color (bb). In order to fing out
d P fhc genotyPe .of the black see.ql plant, with which
(1) AandBonly il.\:’"L of the following genotype will you cross jto
(2) D andEonly v - 5
3) B and C only ) (1) (4:'. St
(4) AandEonly (;“ | %) Bb 0
Sl \
X 17 . L) [ Cﬂﬂtd.._
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Tropical regions show g cies
120 Tropieal 8 Breatest Joye) of 5P°
richness because

A Tropical latitudes have remained rc[ﬂti"cly.
undisturbed for milliong of years, 1ence
more time was aVﬂiiflblc for gpecies
diversification.

B.—Tropical environments are onal.
> - more seas
C.__More solar energy is available jp tropics:

D. Constant environments promote niche
specialization.

E. Tropical environments are constant and
predictable.

Choose the correct answer from the options given
below: '

AD-A, C, Dand E only

(2) AandB only
(3) A,BandE only
(4) A,BandD only

121 These are regarded as major causes of l;iodiversity

loss:

A.  Overexploitation —

B. Co-extinction ¥

C.  Mutation \X~ :

D.  Habitat loss and fragmentatiom__~
E.  Migration :

Choose the correct option:

(1) A,Cand D only

(2) A,B,CandD only

(3)  AgB-and-E-only
A,Band D only -

122 A transcription unit in DNA is defined Pri'“arily
by the three regions in DNA and these are wijg,
respect to upstream and down stream end;

(1) Repressor, Operator gene, Structural geng
(2) Structural gene, Transposons, Operator gene
(3) Inducer, Repressor, Structural gene

(4)  Promotor, Structural gene, Terminator

123  Hind Il always cuts DNA moleculeg

 point called recognition sequence 4y ::::l:h
of: Sl
(1) 8bp (2) 6bp
3) 4bp (4) 10bp

124 The cofactor of the enzyme carboxypeptidyse i
(1) Zine (2) Niacin |
(3) Flavin (4) Haen

125 Match List I with List II

List I ListII

A. Clostridium I.  Ethanol
butylicum .

B. Saccharomyces II.  Streptokinase
cerevisiae

C. Trichoderma III.  Butyric acid
polysporum

D. Streptococcussp.  IV. Cyclosporin-A

Choose the correct answer from the options given
below: '

(1) A-II, B-I, C-II, D-IV

(2) A-lI, B-1V, C-III, D-I

(3) A-llL, B-L, C-IV, D-II

(4) A-1V, B-I, C-lII, D-II

126 List of endangered species was released by-

Ay GEAC (2) WWF
(3) FOAM 4) IUCN

The type of conservation in which the threatened

127 ’
r natural habitat

species are taken out from thei
. . e
and placed in special setting where they can b

protected and given special care is called;
g/])/frf.s"itu conservation
(2) Biodiversity conservation

(3) Semi-conservative method

Q4_English ]
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4) Sustainable development
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128 The Capacity

to genery ; g
cell of the gencrate a whole pl

plant is calleq:
iy TOtipotch)’ o
(2) Micropropagatiéh
(3) Di[’f‘erenliation{:l
(4) Somatic ll}-’bl‘idi%i]tion
o

129

d‘\' - T
dt - r‘y[}\ = }
K1 v

- - 5
From this equation, ;ﬁindicates:
(1) Intrinsic rate of'u_atural increase
(2) Biotic potential“’ |
) X%
) arrying capacity
_3)TCarrying paclty

(4) Population density

130 Bulliform cells are résponsible for
(1) Inward curling;é? leaves in monocots.
(2) Protecting the plant from salt stress.
_(3)~TIncreased phot%ﬂlrnthes-is in monocots.

(4) Providing large L;ﬁ:;aces for storage of sugars,

131 Lecithin, a small molecular weight organic
compound found in”x;ing tissues, is an example

Of: Lf‘:;
(1) Amino acids [~

I
(2) Phospholipids E“i:

(3) Glyeerides ) _C. ~Factors Btur in pairs in normal gip;q
(4] Jants. = .
4) Carbohydrates ' p. The discrete unit controlling g pargie,,
7" haracter is called factor. A
L . " The expression of only one of t},e
132 Inhibition of Succinic dehydrogenase enzyme by E. charﬂcw'q e fesuiricl. b “‘Dﬂﬁhybrigil::;lal
s

malonate is a classiéliexample of:
iy

(1) Cofactor inhibgtion

2) Feedback inhihition

3) Competitive inﬁﬁ_‘)ilion

. 0
4) Enzyme actwaklﬁp

Q4 English |

. L
The equation of Verhhlst-Pcarl logistic growth is (1) Both g

Given b,

. W are
ant from any 3 Statemey, e two statements: ific

and codeg *Bt toxins are insect group P
Stnteme"tyﬂlgt’-nc cry IAc. _
protoxin j, b; Bt toxin exists as 1
ingestion {, thuringiensis. However:
1€ inse ot xin
converteg ij:]l.l?ilnscct the inactive proto

i 0 deti idic pH ©
the 1nsect gut't?c“vc form due to act

In the “Bhl'offﬁie above statements, cho0s€ the
correct ansv\re'rfﬁ-om the options given below:

5 tement I and Statement II are tru€
(2) Both Statement I and Statement I are false
(3)  Statemen [ is true but Statement I1 is false

@ Swe"{ﬁi{f is false but Statement II is tru€

nactive
r. after
gctS

134 Idef“ify the pzi';f_;of the seed from the given figure
which is destffféd to form root when the seed
germinates, (1

4

2 B
4 D

135 Which one of the following can be explained op
the basis of Mgfnde]’s Law of Dominance?
A. Outof ohe’pair of factors one is dominant
~=" " and the other is recessive.
B. Alleles d?;‘\ﬁot show any expression and both
" the chardtters appear as such iy F
o i A
eneration 2

the coféet answer from the any: )88,
Choos® == ¢ Options giye,

v: :
belo B and Conly

(1) :' C, D and E only

‘/’(2)/8- C and D only

g; A. B, C,Dand E

19 l COntd
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B

136

137

138

Botany : Section-B (Q, No, 1310 190
0 -

Match List I with List I1
List 1

W Li

A. Citric acid L C;[:,H
o plasm

B. Glycolysis IL Mitochondria]

Matrjy

C. Electron L. Tntermepprane
transport Space of
system - Mitg i

D. Proton "\ Iv. Inne:hondﬂa
. ,-gradlent Mitochondrial

o Membrane
Choose the correct answer from the options given

below:

AL B-II, C-III, D-1V

(2) A-IL B-I, C-1V, D-lII
(3) A-lI, B-1V, C-1, D-II
(4) A-1V, B-II, C-II, D-I

Match List I with List I1

List I List 1T
A. Robert May . Species-Area
relationship
B. Alexander von 1. Long term
Humboldt ecosystem
experiment using
out door plots
C. Paul Ehrlich 1. Global species
diversity at about
r 7 million
D. David Tilman IV. Rivet popper
hypothesis

Choose the correct answer from the options given
below:

(1) A-ll, B-III, C-1, D-IV

(2) A-lL B-L C-1V, D-11

(3) A-lL B-IL C-11, D-1V

(4) A-III, B-1V, C-II, DI

In an ecosystem if the Net Primary Productivity
(NPP) of first trophic level is 100" | 0

lOUx (kcaf ”?—2) yj“ul " “‘.rhat WDUId be the GPP

(Gross Primary Productivity) of the third
trophic level of the same ecosystem?

) %(kcaf m2) !
/(?—)/x (kcal m_’l) yr |

(3) 10x (keal m_z) .]w"_I

(4) 100x

— (kcal m2 ) yr_l
3x

Q4_English |

A=y \L N
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139 Read the following statements and chgy,
of correct statements:

In the members of Phacophyceae,

A. Asexual reproduction occuyrg usu
biflagellate zoospores.

se the get

B.  Sexual reproduction is by oogamoys method
only.

C. Stored food is in the form of carbohydrates
which is either mannitol or laminarin,

D. The major pigments found are chlorophyll
a, ¢ and carotenoids and xanthophyl,

E. Vegetative cells have a cellulosic wall,

usually covered on the outside by gelatinous
coating of algin.

Choose the correct answer from the options given
below: , '

(1) A,B,CandD only

(2) B,C,DandE only

(3) A,C,DandE only

(4) A,B,CandE only

140 Spraying sugarcane crop with which of the
following plant growth regulators, increases the
length of stem, thus, increasing the yield?

(1) Auxin '
(2) Gibberellin

(3) Cytokinin

(4) Abscisic acid

141 Match List I with List I
List I List 1T
(Types of Stamens)  (Exam ple)
A. Monoadelphous I Citrus

B. Diadelphous II. Pea

C. Polyadelphous III. Lily

D. Epiphyllous IV. China-rose .
Choose the correct answer from the options g1ver
below: ‘

(1) A-IV, B-II, C-1, D-II
(2) A-1V, B-1, C-II, D-I
(3) A-l B, C-IV, D-I

(4) A-I, B-1, C-1V, D-1I

20 [ C[}l'ltd...
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142 Whigc}, of the followin

g statement is cor
——. rect
garding ;e process of

R replication in £.coli?

he DNA dependent DNA polymer
Catalyses poly
thatis 3° - 5°.

ase
merization in one direction

(2) The DNA dependent RNA polymerase

Catalyses polymerization in one direction,
that is 5° 3",

() The DNA dependent DNA polymerase

Catalyses polymerization in 5’ —3* as well
as 3’ — 5" direction.
(4) The DNA dependent DNA polymerase
catalyses polymerization in 5 —»3” direction.
143 Identify the step in tricarboxyiic acid cycle, which
does not involve oxidation of substrate.
(1) Malic acid — Oxaloacetic acid
(2) Succinic acid — Malic acid
(3) Succinyl-CoA — Succinic acid
(4) Isocitrate — o -ketoglutaric acid

144 Match List I with List 11

ListI List IT
A. Frederick I.  Genetic code
Griffith
B. Francois Jacob II. Semi-conservative
& Jacque mode of DNA
. Monod replication
C. Hz;r Gobind [1I. Transformation
Khorana
D. Meselson & IV. Lac operon
Stahl g
Choose the correct answer from the options given
below:
(1) A-IL, Bl C-L, DIV
2) A-UIL BV, C-L DI
3) -é:l_l_B:gl C-1V, D-I
(4) A-1V, B, C-11, D-I1I
2]

Q4_English ]

o

[dentify g ! ive
figure: Ofrecy description about the £

M ind pollinated plant inflorescence showing

flowers with well exposed stamens.

(2) Water pollinated flowers showing stamens
with mucilaginous covering.

(3) Cleistogamous flowers showing autogamy.

(4) Compact inflorescence showing complete
autogamy.

146 The DNA present in chloroplast is:

147

(1) Linear, double stranded

__(2)_Circular, double stranded

(3)_ Linear, single stranded
4) FCil;cular, single stranded

Given below are two statements:

Statement ! ¢ 1 73 plant-s, St:)me O, binds tq
RuBisCO, hence CO, fixation is decreage d

Stat ement I1: In C; plants, mesophyll cellg show

very little photorespiration while bundle s

g . heath
cells do 1ot show photorespiration.

In the light of the above statements, choose e
correct answer from the options given be|0w;
(1) poth Statement I and Statement are tryq
(2) oth S/lalement I and Statement 1 are fag,
atement L is true but Statemen¢ s faise

gratement I is false but Statemen¢ I

[ C[)ntd
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> — B
u..i" , (\:\ i
4 / 4
4 \
" AQ
tch List I with List 11 IS1  Mateh 1 : .
g M I eh List Iwith gy
ot :
Lis ) Lig; - List 1 i ]
¥ SLII
A GLUT4 L) L Homene A. Pleurobrachj, Y
Insulin VL B. R d Olluscy
B. o Ellzb’me + Radula Il Ctep h
i ] . Ophora
¢. Trypsin < 1L, Interceqqular C. Stomochorg L Osteiggy,
[}.: groung substa™®® D. Air bladder I, Ha yes
. o S . : Chordata
p. Collagen Iv. Enapes ghicose Choose the correct answer from the ..
o traﬂsport into cells below : Options given
;3 3 )
Choose the correct ANSWer from th options &V (1) A-IV, B-IL, C1i, pg
below: = 21 A-IL B- L1
A-IV, B-L, CIT:D-IIT APALLBLCI, D
(Dl s it (3) _A:L B-1V, C-I, Dm1
’ 1, B-II, C-IILD-TV
A ALRILE i8] (4) A-IV, B-III, C-I1, D-I
(3) A-IL B-IL CY, DT
(4) A-II, B-IV, C-L, D-II 152 Following are the stages of cell division :
A. Gap 2 phase
149 Match List I with Iist 11 B. Cytokinesis
al Synthesis ph
List I .. ListII C. Synthesis phase
A. Rose 1L Twisted aestivation D. Karyokmem_s. |
Ia:;;ip‘ . flower E. Gap I phase
B. Pea I‘er} erigynous flov Choose the correct sequence of stages from the
C. Cotton I3 Drupe options given below :
- inal placentati ' AB  (2) EBDAC
D. Mang IV. Marginal placentation (1)~ C-E-D-A-B. >
- . . E-C-A-D-
Choose the correct answer from the options given (3) B-D-E-AL @ =
below: < '
¥
1) AL B-1V, C-I{D-11T_ List I with ListII:
B At 153 MatchLis _ ul
(2) A, B-II, C-11, DIV List] Wy 1 Plasnodium
(3) A-IV, B-II, C31i! D-1 A. Common ¢0 1L Typhoid
: ) i :
(4) A-IL, B-IIL, c-ﬁri D-1 B. Haemozoin 1L Rhinoviruses
L C. Widal test [v. Dustmites
i : . Allergy . jven
150 Which of the following are fused In Somatic g the correct answer from the optionsé
hybridization involying two varieties of plants? Chloose
v 7 be ow
(1) Callus L) () A-ILBTY: c-1, D-I
L
(2) Somatic embr{oss @) AL B-I1L, C-II.ID-II:’I
o -11, D-
B3 Protogtasts % 5y AL BLC IL: o
-11, c-1i,
(4) Pollens {9} 4) A-IV, B [Colltd"'
Q4_English ] 22
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154

o0ow»>

Match List | with List 1] :

If;,“l 1 | List 1T
_ D oid . Fungus
Lt.EIShmaniaSiS// ’ II.  Nematode
R.ln gWorm _- I Protozoa
Filarjagig _ IV. Bacteria

bC:I(;C‘)\SF(: the correct answer from the options given

(1) A-L B11, C-I1, D-1v
DA, B-IIL, C-1, D11
() A-m, B-1, C-IV, D11
(4) AL, B-1V, C-IIL, D-I

’ 155 The flippers of the Penguins and Dolphins are

15

- conduction of an action potential through the

the example of the
(1)
(2)
3)
4)

Adaptive radiation- -
Natural selection
Convergent evolution
Divergent evolution

ollowing are the stages of pathway for

heart:

A. AV bundle

B. Purkinje fibres
C. AV node

D. Bundle branches
E. SAnode

Choose the correct sequence of pathway from the

© options given below :

(2) A-E-C-B-D

(1) E-C-A-D-B
(4) E-A-D-B-C

(3) B-D-E-C-A

157 Which of the following statements is incorrect?

Q4_English |

| -y

1 A bio-reactor provides optimal growth
conditions for achieving the desired product.

2) Most commonly used bio-reactors are of
stirring type. o
i s are used to produce small scale
(Wregctor
pacterial cultures.

(4) Bio-reactors have an agitator system,
@ an oxygen delivery system and foam control

system e

23

which of the ;
Fallopian l"be?o lowing is not a component ©
(I )/UiEI‘inef.

- Al
(2) [Slhml]5 [IUS

159

- Statement | ‘0

160

&) l"fu“dibu]“
(@) Ampy

iven b :
- clow are two statements :

nthe nephron, the descending limb
of 100p of Henle js ilr:lpermeablc to water and
permeable t tlectrolytes.

Stat-ement IL: The proximal convoluted tubule
is lined by simple columnar brush border
epithelium and increases the surface area for
reabsorption,

In the-light'of the apove statements, choose the
correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement 1 and Statement II are false
(3) Statement | is true but Statement II is false
(4) Statement] is false but Statement II is true

Which one of the following factors will not affect
the Hardy-Weinberg equilibrium?

(1) Genetic recombination

(2) Genetic drift

(3) Gene migration

(4) Constant gene pool

———

161

162

-

A
B
2
D

Which of the following is nota steroid hormone? .

(1) Cortisol

2) Testosterone
(3) Progesteronc
(4) Glucagoh

Match List I With List 1T :
LiStI List IT
_ Non_medicate.d [UD I.  Multiload 375
. ' COPP"’" re]easmg IUD 11. Pfogestogens
Hormone releasing IUD 1L Lippes loop
~ mplants : IV. LNG-20
Choose the correct answer from the options given
below :

i, B-1, C-I1, D-1V

(1) ) B, CY, DAL

() W, B C-IL DI
A0 B4 CIV, Dt

[ Contq,_
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163 In both sexes of cockr, : . fjoil“cd

filamentous structures calleg . a pair 0!. csert
- A gerciarcP

on:
(M
)
A3)
“)

5t segment

10" segment;y

8th and oth segment
1" segment,
16}/ Match List T with }..\;St It il
ListI

i

/ _ 0 | Listyg
/A Explrz'itory \& *  Expirgso ry reserve
capacity Volume + Tidal
Volume +
€Yy Inspiratory reserve
. Lo Volume
B. Functional &~ 1L Tida] yopume +
residual {“ ‘ Expiratory reserve
capacity . volume
C. Vital capacity Q\E' L Tidal volume +
& Inspiratory reserve
0 volume
D. Inspiratory IV. Expiratory reserve
capacity volume + Residual
volume
Choose the correct ghswer from the options given
below : f-ﬂ
(1) A-IL B-IV, C-T; D-
(2) A, B-IL, GV, D1
() A-IL, B-I, C-IV; D111
4) AL B-III, C4I1; D-1v
\0
165 Match List [ with List I : .
List I List IT
A. Pons - L. Provides additiong]
™ space for Neurops,
i) regulates posture
N and balance.
B. Hypothalamus {«y II. Controls
™ respiration and
&y gastric secretions,
C. Medulla

Wy Il Connects differen
) regions of the
brain.
IV. Neuro secretory
™ cells

tanswer from the options Bivey
M,

D. Cerebellum

ChOOSB the correc
below - ;
_D—A-n, By, C:l; D1V
(2) "A-11, B-1v, I, D.1
) A, B, C{l, D-1v
(4) A, B, C-lg_; D1V

Q4 _Engligh |
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167

166 Given below are two statemcms:

Statement I_: The presence of ab

is not a reli%éﬁje indicator ofvi,ginil: of h!r'rr;;
£ E . . 4

Statement IL: The hymen is t

n] dl _T'
coitus only} gthe firg

In the lightE};‘ the above stateme, e
correct ans@; from the optiong Bivgy ;": the
(1) Both Statement I and StatememI e
(2) Both Statement I and State,

ligg falge
(3 Statemiéit [ is true but Stateney
g i\'r" . i 3&
4) Staten{ggt [ is false but S»ta.temem1

btne
o

The following diagram showing St

in E.coli cloning vector pBR322, Find

ekt
‘X’ and ‘Y’ genes : '

Py T
(1) The gdne ‘X" is responsible for MEST[::'E
antibidti¢s and ‘¥ for protein 1"

tl repug'if;c*:ation of Plasmid. i
0 . ol
}P/TIZ gene ‘X’ is responsible for™

I
the copy number of the linked DNM‘ ,

. icﬂﬂ(‘lll\
for protein involved in the
Plasm‘lq.'

i L‘i\'ﬂd i.’
() The gene ‘X’ is for proteil e

replicdtion of Plasmid and 7"
to anti\\b_ii'_étics.

(4) Gene QX"‘ is responsible for rﬂ"’g:
and ‘F’* is responsible fof
resistance,

o

it
'bl'-m
!

{ funid"
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168  Which one js th

dependent RNA
template?

¢ correct product of DNA
polymerase to the given

3’ TACATGGCAAATATCGATTCAS’
(1) 5°AUGUACCGUUUAUAGGUAAGU3’
(2) 5’AUGUAAAGUUUAUAGGUAAGU3’
(3) 5’ AUGUACCGUUUAUAGGGAAGU3’
5 ATGTACCGTTTATAGGTAAGT3®

Lo

169 Which of the following are Autoimmune
disorders? O

Myasthenia grayis | *;

B. Rheuniatoid arthritis £

i‘-_.":-i"

__D—Muscular dystrophy {:«;
"E. Systemic Lupus Eryt];"éﬁ'zatosus (SLE)

e
C. Gout ik

lu_:-l
Choose the most appropriate answer from the

options given below : "
(1) A,B&Donly  if}
@ A.B&Eonly i
e i.%‘l
(3) B,C &Eonly <
(4) C,D&Eonly 0
]
170 Match List I with List II :
(%,
List I | 1 [l;,lst II
A. Pterophyllum I. {Hagfish
(%4
B. Myxine II. ;-Saw fish
C. Pristis 11 f-“}i&ngel fish
D. Exocoetus IV, Flying fish

Choose the correct answer from the options given
below : _ ()
.
(1) AL B-1, C-III, nrrxl}1
(2) A-IL,B-L CI D-IV§
(3) A-IV, B, C-IL D-IIL

(4) AL, B, C-L, DIV

Q4_English | o

O,\ z
7
N
Given belg,

il as Assertj e two statements ; one i$ Jabelled
ReasonR, nd {lrh]c other is labelled @S
AsscrtiunA : h, - . )
fe|1‘la|e'apd L;FSH ac &g!pon ovarian follicles 11

Reason R ydig cells in male.

: :Gmwiﬂ!i»q“rian follicles secret€
estrogenn fy e o te
drogen male while interstitial cells secre

an : g_n I ma|e humﬂg belng.

Int et]lght of the above statements, choose the
Icorrec answer from the options given below :
(1) Botha and R argrfrue and R is the correct

eXplanation of A .
Wh Aand R dre true but R is NOT the
; correct explanation of A. :

(3) Adstrue but R i§false
(4) Adisfalse but R {true
0

172 Match List I with List I :
List] p;.»‘List I
A. Lipase L. iPeptide bond
B. Nuclease . II. >Ester bond
C. Protease m.(\l_{_}rl_y_gggi_dri_gjgggg
D. Amylase IV. =jPhosphodiester bond

Choosethe confe_qt ani@er from the options given
below : 1 0

(1) AdV,BL, C-IL DI
2) A-ITT, B-IL, C-l, RN
3) Al B-IV, C-I, Q-}ll
4 A-IV, B, C-ILiD-I1

0
List [ with Listll
173 Mat(.:ht 1 3 ListIl
ﬁ::oneme U  Centriole
g. Carnvheel 1. Ciliaand flagella

ern :
W Chromosome
; .
C. Crw][ite I{1V. Mitochondria
D. Sa o correct answer from the options given
Choose \1“\1 ?

beloW =N‘ B-1iI, C-ILD-I

0 A:N, p-II, C:1JD-
-/(.Jr’/A 1BV, c-1, Dl
3) Al B C-1V, D111

4)
[ Contq,,,
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174 Match List T'with List 1y .

List I List n
(Sub Phases of (Specific
Prepluzet) Chargegers)
A. Diakinesis 1. S}’“aptoncn*“l
Compley formtio"
B. Pachytene II. Completion of
termipga}jsation ©
Chiasmata
C. Zygotene II. Chromosomes
look |jke thin
threads
D. Leptotene V. Appearance of
Tecombination
nodules :
Choose the correct answer from the options given
below :

(1) A-IV, BAI, C-lII,__Di
(2) A, B-II, C-IV, D-IIT

/@_@il, B-IV, C-I, D-III
(4) A-1V, B-1I, C-II, D-I

175 Consider the following statements :

A.  Annelids are true coelomates
B.  Poriferans are pseudocoelomates
C.  Aschelminthes are acoelomates
D.  Platyhelminthes are pseudocoelomates
Choose the correct answer from the options give

below :
(1) Bonly " (2) Aonly
(3) Conly (4) D only

176  Match List I with List [[ -
List I

List IT
A. -1 antitrypsin I.  Cotton bollwory,
B. Cry1Ab _II.  ADA deficiency
C. CrylAc 1II. Emphysema
_D. Enzyme IV. Corn borer
replacement
therapy
Choose the correct answer from the options Bivey
below: -
(1) AL, B.1, v .
@ A IV, D-I11

1L, B-1, Cp1, popy
DAL By, 0 by
@ AL B, ¢ By

Q4_English, |

177 Match List I with List II :

List I List 11
A. Fibrous joints . Adjacen
vertebrae, limiteq
Movement
B. Cartilaginous II.  Humerys ang
joints Pectoral girdle,
rotational
movement
C. Hinge 1. Skull, don’t
joints allow any
movement
D. Ball and IV. Knee, help in
socket joints locomotion
Choose the correct answer from the options given
below :

(1) A-IV, B-L, C-III, D-I
(2) - A1, BII, C-I1, D-IV
(3) A-IL, B, C-I, D-IV

4y AL B, CIV, D-II

178 Three types of muscles are given as a, b and «.

Identify the correct matching pair along with their
location in human body :

Name of muscle/location
1) (@
(b)
(c)
(a)
(b)
(c)
(a)
(b)
(c)
(a)
(b)

Smooth - Toes
Skeletal - Legs
Cardiac - Heart.
Skeletal - Triceps
Smooth - Stomach
Cardiac - Heart.
Skeletal - Biceps
Involuntary - Intestine
Smooth - Heart.
Involuntary - Nose tip
Skeletal - Bone

(2)

3)

(4)

(¢) Cardiac - Heart.

[ Contd-
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179 Match Lig | with List 11 :

List I List 11
15t
A. DO\\']] S S_\Tzdromt: L ‘“lh )
B a-Tha : chromosome
1alassemia I Xl
C pris + "X chromosome
- P-lhalassemis J
5 semia 1. 218 chromosome
- Klinefelter's V. 16" chromosome
sy ndrome
Choose the correc '
S orrectanswer from the options oi
below : reen

(1) A-1, B-IL C-IIL D-1V
(2) A-IL, B-IIL. C-1V, D-]
(3)  A-IIL, B-IV. C-I, D11
(4) A-IV, B, C-II, D-I11
180 Which of the following factors are favourable for
the formation of oxyhaemoglobin in alveoli?
(1) High pO, and High pCO,
23 High pO, and Lesser H* concentration
(3) LowpCO, and High H* concentration
(4) Low }.)COZ and High temperadture
181  Given below are some stages of human evolution.
Arrange them in correct sequence. (Past to
Recent)
A. Homo habilis
B. Homo sapiens
C. Homo neanderthalensis
D.. Homo erectus
Choose the correct sequence of human evolution
from the options given below :

(1) D-ACB -2y B-A-DC
(3) C-B-D-A (4) A-D-C-B
182 Match List I with List 11+~
List I List IT
A, Cocaine I.  Effective sedative in
surgery
B, Heroin [I. Cannabis sativa
C. Morphine i 1L Erythroxylum
D. Marijuana IV. Papaver somniferum

Choose the correctanswer from the options given

below :
A-1V, B-1], Cl D-lI

) A-1, B-III, C—I],D]V
J}a/A-[I B-1, CIHDIV
(4) A-I11, BIVCID[I

27

W_English ]

3 C“Ln b L‘lm;

fe ; Aled
. Assertig Wo statements ; one is labelle

l qaon R: and the other is labelled a5
|...

(¥)
Mfeeding during initial period
is Fecommended by doctors for

Assertiony, tBreg

of infant groy |

pringing a health
% 4.

ResscnR: CO]USlﬂrﬁ"rcont'uns several antibodies

absolutely essentiaf fg develop resistance for the
new born bapy,

In the IIgh tof the above statements, choose the

most aPPropriate apswer from the options given
below : I~

othAandR (\?correct and R is the correct
explanation of A.

| 0 .
(2) BothAandR aL:e correct but R is NOT the
correct explanation of A.

(3) A iscorrect blg_; R is not correct.
(4) A isnot core€Tbut R is correct.
0N

m - .
Which of the following is not a natural/traditional

contraceptive method? -

184

(1 Cmtusmtermptps
0
(2) Penodlc abstipence

3) Lactational ﬂr%lorrhea

Mults

0
\0

185 The “Ti plasnlld of Agrobacterium tumefaciens

_ stands for (v ‘

() Tumour illhlllll_lng plasmid

) Tumor indep@them plasmid

.é)' Tumor lﬂdUCiﬂg plasmid

(4) Temperature lndcpendem plasmid

[ Contd...
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187

188

186 1

Zoology : Section-B (Q. No, @

186 Match List Lwith Lisg 1 :

List I .

. Exophthalmic | L'“ 11 i of
o . ite ) EXCQSS sccrt'“f'_ . &
goter co”iSnl. moof fa

IS’DQr 7[\-‘|:L’Illi:|
B. Acromegaly I1. gl

YPo-secretio "
Fthyroid honno-tl
aNd stypged grov™

C. Cushing’s I11. YPer secretion
s}-ndrome Gflh}'l'oid hormonﬂ .
o pmtl‘Uding eye bﬂ"S
D. Cretinism V. Xcessiye secretion
of growth hormore.
Choose the correct answer from the options given
below : '

(1) A-L, B-II, C-II, D-1v

_2¥ A-IV, BIL C-I, D-Ipy

(3) A-ILBIV, C-I1, D1
(4)  A-IIL, B-IV, C-1, D-11

Given below are two Statements -

Statement I : Mitochondria and chloroplasts are
both double membrane bound organelles,
Statement I1 : Inner membrane of mitochondria
is relatively Jess permeable, as compareq to
chloroplast. '

In thelight ofthe above statements, choosethe mogt
appropriate answer from the options given beloy :
(1) Both Statement ] and Statement [T are correct,

(2) Both Statement | and Statement IJ gpe
incorrect,

37" Statement | is correct but Statemen; Il

incorrect.

(4) Statement | is incorrect but Statement || is

correct,

Regarding catalytic cycle of an enzyme ay;
select the correct sequential steps : _

A.  Substrate enzyme complex forrqatlon.
B.  Free €nzyme ready to bind with anothe,

On,

Substrate,
C.  Release of products.
D.  Chemical bonds of the substrate broke,
E. " Substrate binding to active site. :
Choose the correct answer from the options Bive
clow -
(1) E,A,p, C B
LB A C. D.E
4) g, D,C,B, A

189

190

of cockroach,

(1) A-IV, B-II, C-TIT, DI

(DA B CIL D1

Match List I with [jgt I rcfalcd[{d
M.,

List I
I_E“'[

¢

The structures used I

:*'?J.H
d

for storing of foo(.
Ring of 6-8 blind I,

tubules at junction of r

i

foregut and midgyt,
Ring of 100-150 yellow Y

A

coloured thin

I A

filaments at junction of
midgut and hindgut,

The structures used I\ (z
for grinding the food. o

Choose the correct answer fromthygsis fier
below :

(2) A-L B-IL, C-III, D-IV

(4) A-III, B-I1, C-1V, D-I

”
. - _\u'lr.'m"
The following are the statemens®
chordates :

A.  Pharynx is perforated by gillsi
B.  Notochord is absent.

C.  Central nervous system is don!
D.  Heart is dorsal if present.
E." Postanal tail is absent. o

f
. s
Choose the most appropriate &
Options given below :

() A&c only

(2) A,B&Donly

3) B,D&E only

“4) B,c&D only lﬂn"l‘"
4
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Choos
91 rcgardig tl.m correct statement given below
N8 juxta medullary nephron.

1 "
(1) Juxta medullary nephrons are
Columns of Bertini.

R .
l_enfll corpuscle of juxta medullary nephron
€8 In the outer portion of the renal medulla

(3) Loop of Henle of juxta medullary nephron
runs deep into medulla.

located in the

()

4) Juxt_a medullary nephrons outnumber the
Cortical nephrons.

192 Given below are two statements :

Statement I : The cerebral hemispheres are
connected by nerve tract known as corpus
callosum.

Statement I1 : The brain stem consists of the
medulla oblongata, pons and cerebrum.

In the light of the above statements, choose the

most appropriate answer from the options given
below :

(1) Both StatementIand StatementIlare correct.

(2) Both Statement I and Statement II are
incorrect.

(3) Statement I is correct but Statement II is
incorrect.

(4) Statement I is incorrect but Statement II is
correct.

193 Match List I with List 11 :

ListI List II
A. Pwave I. Heart muscles are
; electrically silent.
B. QRScomplex 1L Depolarisation of
ventricles.
C. T wave 11I. Depolarisation of
atria.
D. T-Pgap V. Repolarisation of

ventricles.
Choose the correct answer from the options given

below :

(1) A-l, B-111, C-1V, D-II
(2) A-ILB-IL, C-1V, DAl
(3) A—“, B-[Il, C-l, D-1V
) A-1V, B-1I, C-I, D-11I

| Q4_English ] e

.

Mf‘wh Lis,,
List
- Mcsomic Etg
p. Proteronmic .,
. Cenozoi¢ iy,
p. Paleozoic gy,

ith 1jsy I

List 11
I.  Lower invertebrat€s
. Fish & Amphibia
11, Birds & Reptiles

| IV. Mammals
Choosel e Correct answer from the options gIven

bclOW:

(1) AILBY ey, pory
@) A-LBY ¢y, pav
(3) A-LBLCy, D1
@) A-LLBY, C.1y, D-II

194

195 As per ABO blood grouping system, the blood
group of father is B*, mother is A* and child is
O™. Their respective genotype can be

meAini L& (A

B IBIB i
C—BHIATIBY
D. - JAIHBi AT
E_#BAH1AB—
Choose the most appropriate answer from the
options given below :

4 A only

(3) C&Bonly

(2) Bonly
.(4) D&Eonly

196 Given below are two statements :
Statement I : Gause’s competitive exclusion

princillﬂ"-‘ states that two closely related species

competing for different feésources cannot exist

indefinitely.

Statement I1: According to Gause’s principle,

duri“gcompctition, theinferior willbe eliminated,

This may pe true if resources are limiting,

fi e light of the above statements, choose the

oot answer from the options given below -
co '

(1) Both Statement [ and Statement 1 are (rye

atement [ and Statement 11 gre lalse

nt 1 is true but Statement 11 jg false

(2) Bnlll St

(3) S"lt;]"‘c
Smlcnicnl Lis false but Statement 17 jg true

[ Colltd.._

.“_. N, .-“--'1.
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197 Given below are two g, 199  Match List I with List |7 -

dtl&l‘nel
] .
Gt I:B s List I i
atementI: Bone marrgyy 3 o mll ) l"“lj
Sigiiiihereallilond cellgin i ;e main |}hl 65 A. RNA Pol}’mcrasczli, sng
s Ing lymp oo " Y,
are produced. 1” B. Termination of * | ‘
5 0\
Statement I : ‘ ipti <
’ Both b0ne= Marroy and iy qus transcription L I1. Pro,
provide micro environme t o i
ntsf Or the de Vclopmf C. Splicing OfEXOIIﬁF; 111 Rk, r
and maturation of T-])'mphbcyt - iy,
| : D. TATA box IV, S
Inthelmhtoftheqbovestatemems choosB‘hemO Sk W1k
appropriate answer from the options oivenbelo": Choose the correctiay’lswer fromthe0 - /
giv below : YBvey

oth Statement I and State rect. ; L)
/U'}/B T3] Ment ] are co (1) A-II, B-1V, C4lyD-I11

(2) Both Statement I and § | are ("
tatement! @) AL, B, Cﬁ?? D-1
.=

Incorrect. (G
" R A-III, B-1V, CAD-II
3) Statementl 1S correctibut Statement 1115 @) g{;
incorrect. 0 ‘ 4) A-1V, B-1II, C-I, D-II

(4) Statement I is incorrect byt Statement 1T is

.. ; (v} .
correct, (¥} 200 Identify the correcti?gtlon (A), (B),0), D)y
if) respect to spermatqggnesis.
G : .
198 Match List I with List Il :0 f;li
. ; =3 . =
List I Pre List IT | f:;(‘lﬂl}H
A. : i . [ - L
Unicellular glandular **[! Salivary glands L3 We
epithelium : - l ) i
{3 B) v} © Sv
B. Compound epithelium rll.  Pancreas 1 ;ﬂ !
C. Multicellular EIIL. Goblet cellsof il F“‘l“""'
N 7 §
glandular epithelium =}/ alimentary can| ‘ Fomationofspemag‘% W
(5 . )
D.  Endocrine glandular  IV. Moist surface of O
epithelium buccal cavity y/(SH Leydig cells, Sertoli cells.
Choose the correct answer from the options givey sperrmogenems
below : (v} (2) ICSH, Interstltlial cells, Leydigee!®
ey
(1) A-II, B-1, C-III, D-IV spermlog,enei-ns
Ils,
(2) A- lV B- "I C. I D- " | (3) FSH Sertoll’ce'ils Le)fdlb ce
spermatogenes‘ls
3) AlllBIVCIDII; ad

(4) ICSH, Leydigjgells, Sertoli cell*
spermatogenesis.

(4) A-II, B-I, C-1V, D-III"_

pid
Q4_English | 0. (¢
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